o S A B R I 40T T T T T T T T T T T T T T 10 I L L A
i T WWH%*—#W r 1 1
HEH-
Aw&m&m o mwmv sk 1 ]
75— L 1 4
wo@@@o@ o@w@o@% i ] 8 4
%@@@OW@@ 1 30} 1 |
of ! - r ]
; BT ] f
£ I N 1
« 5 R 1 6 e
= . 20F . ]
= o [ ] 1
10 i [ ] J
] 1.5 ]
oo [ ] 4 7
151 . : ]
C 1.0 5 1
o) E N N B S B R B 0. ] 2 - T
0.0 0.2 0.4 0.6 0.8 1.0 0.5 1.0 1.5 2.0 2.5 3.0 10 15 20 25
phose ¢y H—K V=K
15.0 ‘ ‘ ‘ -
1450 -
A0
E E, ,,,,,,,,, 1) fi 1) A A f fi A B il
13.5 Y i \ i MWy f il \ I i | ik Yy T | i i i1y YRRV
13.0C ‘ ‘ ‘
40 ‘ : :
E 20— ‘
= TR AR TR,
I ‘ IR LTI TN FUARRA b ‘ 1 | TR |
¢ -
o —20—
N O
—a0C ‘ ‘ ‘
1.0 : : : -
8 os— —
S - =
T os— —
.9 [ .
B os— =
] C 3
§ 02— —
0otz ‘ ‘ ‘ - A
0 100 200 300
time [yr]
80 g g 508‘1 ST I T e e E ] SOF ‘ ‘ 3
, Gl Prlpd 2t ] g ]
-78- P ogo ° g T 4x10PE E
SR o o ] 1 T 3000 K
F-76f to o 1 a0k 3
S SR S gL 3.70 Lg
< o7af 0000 4 a0t . 4 Mass 0.75 Mg
b 1308 - 1 o 3 1g(C-0) 8.20
: ; 1 c/0 1.35
-7.0 L L L L L L L L L L L L (O] =" L L =
eg———————————————————— e ‘ ‘ =
[ ) : 2 ] Dy 4 km/s
-esp B g o g2 4 _ 31 2.0
Foe g g oo o 1 ¢ E
e 5% g ER 1 class pn
B -s2f 77 AL 1 2
S A D %! 103 E
-60F % I 4 . )
SRR ol 1 & 3 No wind
NEREE FITI
sl % o, e RcEy e 0B 0 = Period 294. d = 0.806 yr
O T Ty gy 6 e e g e ] O 7 Radius  268. Ry
[ 5 2% 91.60 Bl g ] 1 logg —-0.54
sl . Coet 1y 8xi07 4 MM, 0.867
Loomet e el 1§ ]
= 3 - Lo 1 6x107° 7] .
€ Lok 0% oo B 18 1 Colour mean / min / max / range
= 8lo R i3 . , B-V) 2.15° 2.07 2.24 0.17
> Fo o e ool 1 € 4x107 1 (V=" 242 221 2067 0.46
L . voo Oy {12 4 V—K 540 495 589 0094
-1sE 1w Ty 18 g 1 (J-H) o088 082 094 0.12
t T8 - 1 E J—K 1.41 1.29 1.53 0.24
[ 1 ] H-K) 0.53 0.46 0.61 0.16
-10l . . . . . . ] 0
319 321 344 346 352 354
time [yr] time [yr]

5000 5./0

0./5

3.20




13.3

-0 =aaannnannns:

=20 Lol

13.5 13.6 13.7

13.4

13.2

13.4 13.5 13.6 13.7

13.3

log r [em]

log r [em]

13.3

13.5 13.6 13.7

13.4

13.2

log r [em]

13.3 13.4 13.5 13.6 13.7

13.2

log r [em]

7

4

77

>

|

13.3

O [T T T T T T T T T

0
o

kXeJiaannanannas:

< © <
N - —

22.bsp uoOIOSUBPUOD

0.5

0.0 L bvww o TP T T T T |

6000 FTTTTTTT T T T T T T

5000

[=}

[ =L

2000

1000

[0 WS T

13.4 13.5 13.6 13.7

13.3

log r [em]

13.6 13.7

13.5

13.6

13.5 13.6 13.7

13.4

13.2

13.7

13.4 13.5

13.3

log r [em]

log r [em]

13.2
13.2
13.2

s by rreEEEEEErEErE e b b e |
13.3 13.4
log r [em]

o o o o o o
o [} s} <] o o
o [} =} =] o o
© re} <+ o} 39 -

M o~ —
2a.ubop uoljDSUBPUOD
[cwo/B] Ausuep boj [54] o6

100 T
VN inaasnnnans
0

7000 FTTTTTTT T T T T
Obtvinliinin

=20 L b b b b b |

1
o [T} o
|

13.7
13.7
13.7

Note: Time increases downwards. Scales OK for last curve (bottom black)
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